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Main Menu

If an object, such as a ball, is dropped from a initial height, c, the height, h, in feet, as a
function of time, t, in seconds, can be modeled by h = -16t? + c.

If the object is tossed upwards with an initial velocity, v, then the model becomes

h = -16t% + vt + c. These models ignore air resistance.

1. If a ball is dropped from a height of 120 feet,
compute the height after 2 seconds.

Main

Tap g for the Main menu.

Press:

OEXERIEEOEIE] EXxE.

For a more mathematical display, the raised exponent
template can be used from the Math1 Keyboard.

Press:

@& X] (2] [eyeeard) [=] (2] > (H] (O] (2] (O]

EXE]J.

This expression can also be evaluated using a variable for
substitution. A command in the form expression | variable =
value means evaluate the expression with the given value(s)
substituted for the variable(s).

Press

@m@[Keyboard](Var|[Math1|@>m@
(O] (atha] [1 ] Cvar ] [« ] (=] (] (EXED.
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-16x2"2+120

0

o6

# Edit Action Interactive

BEREDE

T

-16x2"2+120

-16%22+120

o

56

56

# Edit Action Interactive

53 | o [T s |2

ol

-16%27~2+120
-16%22+120

-1622+120|2=2

o
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2. Compute the time when the height of the ball is & Edit Action Interactive

84 feet. ﬂa%l&bl{gﬁ]]ﬁlnp {ixﬁ v —H’—L  j Tl
, 84-120

The value can be computed using the square root ~16

and fraction templates from Math1.

b |

=

Tap

(Keyboard) [vu] [=] (8] (4] (=)
MWEOY® ) E]EXE.

& Edit Action Interactive
ﬂé’%] d"jb ‘Jr-ﬁ:l]Simp -rixy v ]—H—L v

The value can also be computed using a solve

command from Math1. The format is J%

(equation,variable) even if there is only one variable 3

in the equation. 2
solve (—1622+120=84, ¢)

Tap 3.3

(Math1 | [solve( ()] [(1 ] [ 6 ] (var | (Math1] (2] {t"z : t‘z}

>+ (2]Je](=](8])(4] o] (ver] O

[ 1O]Exe) ]

£ Edit Action [Interactive
L | FLS Hﬁal Transformation »
3. A ball is tossed upwards with an initial velocity Advanced 4=y
of 56 feet/second, from an initial height of 120 feet. ! lculatic diff .
Compute the time and the height when the ball is at Eit:phx }mpmff
a maximum height. Matrix  |lim
Vector |3
Commands such as fMax are found under the Equationfi M
Interactive and the Action menus. The Interac- Assistant rangeAppoint
. . . . Distributi mod
tive commands open a dialogue box which gives Financial iline -
prompts for the input. The fMax command uses x Min | FiMinZiMax
as the default variable, but another variable such fMax | gcd/lem 3
as t can be used. ifraction ’

4 Getting Started with the Classpad I
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Tap Interactive, Calculation, fMin/fMax, fMax
and complete the inputs as shown. (Part of the first
coefficient, -16, has scrolled off the screen.)

Then tap OK.

4. Rewrite the expression from Question 3 in
factored form.

Tap Interactive, Transformation, factor, factor.

Getting Started with the Classpad I

Main Menu

£ Edit Action Interactive

23] & [l sime 5o [ o[22« P
0
fMax

© fMay

() fMax numerically

Expression:  |6x"2+56x+120 |

Variable: x |

Start: \U \

End: o0 |
0K Cancel

#¢+ Edit Action Interactive

T
faxed

0| e

Simp] I dxﬁ ¥

A

fMax (~16-x2+56-x+120, x,0,%) =
- -l
{MaxValue-lBQ, X=y }

¢ Edit Action [Interactive)

0 approx ation

~ simplify Advanced

[ axpand Calculation

| factor factor
combine rFactor

‘collect factorOut
tExpand Vector
tCollect Equation/Inequality
- expToTrig Assistant
trigToExp Distribution/Inv. Dist
'Fraction  »||Financial
DMS »|| Define

v w w w w w w w w w |=
o g
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Enter the expression in the box. Then tap OK.

5. This model expresses height, or position, as a
function of time. Construct a model for velocity as a
function of time.

The velocity would be the derivative of the position
function.

Tap Interactive, Calculation, diff.

Main Menu

£ Edit Action Interactive

Simp] Ji"@

T

—16x"2+56x+120

0K

Cancel

# Edit Action Interactive

'E 1] o [ sime

b

3

o

factor(—16-x2+56-x+120) =
—8-(x=5)+(2+x+3)

£ Edit Actlon

Advanced

R E
O

Transformation

-

24

Calculati

Complex
List
Matrix
Vector
Equation/
Assistant
Distribut
Financial
Define

diff
impDiff
I
lim
) 3
I
rangeAppoint
mod

line
fMin/fMax
ged/lem
fraction

v v w w

Getting Started with the Classpad I
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Enter the expression in the box. (Again, part of the £+ Edit Action Interactive
first coefficient, -16, has scrolled off the screen.) ﬂg%] &.Hm]sm]% B ,r[
Then tap OK. =

diff X]

() Differentiation
(") Derivative at value

Expression: G : i |
Yariable: ‘x |
Order: ‘1 |

0K Cancel

Alternately, the template for a derivative from © Edit Action Interactive
0.5 I r
Math2 can be used; the result will look the same. '-»%] 45"‘“@3 Sllﬂl'lji"? o el

7=

A (16:x2+56-x+120)
dx

—32+x+56
u

Getting Started with the Classpad |l 7
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6. Compute the instantaneous velocity at time
2 seconds.

The only difference is to tap the bullet for Derivative
at value, and to enter the value in the last box.

For a more intuitive display, use the derivative
template from Math2 and the “with” ([ 1 ]) command
on Math3.

Main Menu

£ Edit Action Interactive

81 | b | 1850 sima | 525, | ¢

A (_16.x2456-x+120)
dx

diff
() Differentiation
 Derivative at value

%»}"[

Expression:  |6x~2+56x+120 |
Variable: x |
Order: \1 \
value: ‘2I ‘

0K Cancel

& Edit Action Interactive

diff (-16-x"2+56-x+120,x, 1, 2)

o

Uﬁ%]&’)" }gJISimP]Ji"ﬁ v vm

<

£ Edit Action Interactive

0.

ra

(-16x"2+56x+120) |x=2

TR

dx

=)

3| & |10 sime |50 v | A4 ,r[:

Getting Started with the Classpad I
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7. Compute the total net distance that the ball
travels.

The ball had an initial height of 120 and fell to height
of 0, so the net distance should be -120.

For a calculus connection, integrate the velocity
function.

Tap
[Keyboard] (Math2 | .

Enter the integrand, the variable, and the limits.
The variable t can be found at (Mathz], then tap
EXE]J.

8. Compute the total distance that the ball travels.

The initial height and the maximum height are
known, so the total distance can be easily
computed.

For another calculus connection, another integral
can be used. The traditional approach is to use two
integrals, but it is quicker to use the absolute value
template. The template is also in (Mathz].

Getting Started with the Classpad I

Main Menu

£ Edit Action Interactive

utﬁ’%I{Ljp fﬁ:nl!ﬁmp[&‘y v[%# TE

5
} —322456d¢
0

-120

051I%I~ J'elx ISimpI&‘;} T[-Hj— ‘FE

169-120+169

D

£ Edit Action Interactive

0.5 1]{'-3|-‘|mx:|‘[5imp‘[% v ‘I'E

f -32¢+56|dz
0

218
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The ClassPad has a symbolic algebra system, sometimes called a computer algebra system,
or CAS. An important distinction is a calculator using symbolic algebra can manipulate unde-
clared variables. The factoring example from Question 4 was an illustration. It is usually a good
idea to tap Edit, then Clear All Variables to ensure that the variables do not have a value
stored in memory. The next 2 questions illustrate additional symbolic algebra.

9. If a model for the height of a ball thrown upwards
; , i , g' by h = -168 P & Edit Action [interactive|
as a function of time is given by =-16t° + vt + c, o {Q:J‘Transformation :
compute an expression for the time when the ball —A———— Advanced 3
hits the ground. U Calculation g
Complex »
Tap Interactive, Equation, solve List {
P » = ’ : Matrix »
| Vector d|
|Eguationj solve
Assistani dSolve
Distribut rewrite
—— Financial| exchange
abc af: Define |eliminate
[ I I I I 1 abhebrnaemed
solve
| © Solve
(") Solve numerically
Equation: 16¢" 24+vxt+c=0
Enter the equation in the box by pressing S L’ J‘

and tap to view the variables. The negative
sign is to the left of 16 and has scrolled off.

Enter the variable in the second box and tap (EXE],
Cancel
or press the key; then tap OK.

j Mathl || , | 5 | ¢ | 4

P e f
(Math2 I ot | i | 7| & | ¢
Math3
1| M It > F 4 4] ] s
Trig |
- s t u v n X
Yar .
: CAPS
. abc 21
v | * G5 | ans | EXE
Alg Standard Real Rad (i

10 Getting Started with the Classpad I
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Both solutions are shown; the first solution would be
negative and is not in the domain.

10. If a model for the height of a ball, thrown
upwards, as a function of time, is given by

h = -16t? + vt + ¢, compute an expression for
velocity as a function of time.

Press

and tap (Fatiz] (&3,

Enter the expression and the variable and tap (EXE],
or press the key.

Getting Started with the Classpad I

Main Menu

£+ Edit Action Interactive

solve ( -16 -t2+v't+c=0 . tJ

|t_ vy v2484ec v v2+84),
32 32
D

1
i3 | 6 [ sime [ | v [+ +]

£ Edit Action Interactive

|[|]51](ﬂjh- ﬁ; I‘iimp[% v[H;F TE

L@
:Math1 Line| &4 | ym | = >
Mathz | pm | oo | 1n | i |
(MatS |y | 0] 20| /o= | B
8 oo | (=1 | (48] [ = | T
% sin | cos | tan | & ¢
v | * T | ans | EXE
Alg Standard Real Rad ' (W

£ Edit Action Interactive

b [ [ TH s

=

L (=167"2+vXt+c)
dt

—32-t+v
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Numerical Solve
Menu

To use the Numerical Solve menu, tap the icon, enter the equation in the box, then enter val-
ues for the variables. Tap the bullet for the unknown variable and tap 1.

1. If a ball is tossed upwards with an initial velocity .
o ) & Edit Solve ¢
of 56 ft/sec, from an initial height of 120 feet, = ] ] —
compute the times when the ball is at height ) | v ] [
150 feet. \Equation: '
h=—16+t 2+v-t+c
Enter the equation. Note that a times symbol is : (O h=150
needed between v and t to distinguish the product ®ti=|
from a single variable named vt. O v=56
Oc=120
Enter the values of 150, 56, and 120, select the bullet | Lower=—9e+399
for t and tap [slve]. \Upper= 9E+999
£+ Edit Solve &
1
[b‘nlvel %L I N
\Equation:
h=—16+t2+v-t+c
Result
t=0.6602753
Left-Right=0
0K

12 Getting Started with the Classpad I
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Menu

£+ Edit Solve *

To compute the second value for t, enter an initial

estimate, say 4, for t and tap [suw]. Suml%] Ja

Equation:
h=-16+t 2+vst+c
Result

1=2.8397247
Left-Right=0

OK

2. If a ball is tossed upwards from an initial height of o Edit Solve ¢

120 feet, and has height of 160 feet after 2 seconds, ﬁ
compute the initial velocity. SUMI %Iﬁ
Equation:
Enter the values of 160, 2, and 120, select the bullet h=—16+t 2+y-t+c
for v and tap [sove]. Oh= 160
8t=2
@ v=I
(e=120
Lower= —-9g+999
Upper= 9g+999

{+ Edit Solve &
s = TR
Equation:

h=—16+t 2+v-t+c

Result

y=h2
Left=-Right=0

0K

Getting Started with the Classpad |l 13
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1. If a ball is tossed upwards with an initial velocity
of 56 ft/sec from an initial height of 120 feet, graph
the height of the ball, as a function of time.

From the Menu, select the Graph & Table icon.

Enter the function as y1.

To set a window tap [€], enter the values and tap
OK.

Tap [*}] to graph.

Menu

Graph & Table

£+ File Edit Type &

*—LI y= 'lEEIEIFH]-'E

‘Sheet1 [Sheet2 Sheet3 [Sheetd |Sheet5 |

By1=—16-x2456-x+120 —

![I&E-D
LI0) x

| File Memory

[ Ix-log [ ]y-log

¥min =il

max :6

scale: 1

dot :0.0227272727272727
ymin =50

max :200

0K Cancel Default

| — >

ﬁ Edit Zoom Anglysis ¢

BEEEEL QI-LTE

Sheet1 |Sheet2 |Sheet3 [Sheetd |Sheet5|

[Ov¥2:0
[]¥3:0
[Jva:0
[ 1¥5:0
[]¥6:0

[1..7:0

Myl=—16.x2+56-x+120 t—

GUUTy
1751
150

12
T
501

281

0

=k ik

Rad Real
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Tap By to plot the graph in a full screen. To adjust

the window, use(¥] (A] (<] [®] to scroll in any of

the four directions, to zoom in, and (=]
to zoom out.

2. Compute the height of the ball at time 4 seconds.

To trace, tap [0¥]. To find a specific value, press any
one of the number keys; this will open a dialogue
box. Then tap OK.

Getting Started with the Classpad I

Graph & Table
Menu

£ Edit Zoom Analysis ¢

v |(X)

XY
) [

e B 5

Rad Real

£ Edit Zoom Analysis ¢

BEE

i)

%y1=— BexT2+56+x+120

175

Enter ¥alue

Z.9,160)

x-value: ‘ 4

OK

Cancel

|

\

15
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Press to mark the point and keep the
coordinates on the display.

16

Menu

Graph & Table

& Edit Zoom Analysis ¢

X

HEEIEBEEE

¥ 1=—[PB+x72+56+x+120

: 3

1501

125

7or

50

291

L=

) 1 ) 3 1 X

£+ Edit Zoom Analysis ¢

B8 B EIEE B EE

L
—
%
<z

75.

50

25+

£

Rad Real

Getting Started with the Classpad I




Al
[ o
A4, p/

leat=Cami o Graph & Table
Menu

3. Compute the times when the ball is at height

& Edit Zoom |Analysis| ¢ X]
150 feet. - T [ Trace = 5
. ] Sketch ] r———
Tap Analysis, G-Solve, x-Cal/y-Cal, x-Cal. x-Cal x—Cal/y-Cal
175¢ y-Cal Root
150- ............ (1!150) \ :iar:‘
TMax
or y-Intercept
= | Integral »
! Inflection
Distance
25) xff(x)2dx
! : \ v|
Enter the value for y and tap OK. £ Edit Zoom Analysis ¢ (%)
B EEE R EE
¥
175

N

Enter ¥alue

y-value:[150 \
0K Cancel

7 \

& Edit Zoom Analysis o (%]

& E EIE R ]_,,_]'[:

v1=—|PB:x*2+56+-x+120

AT0.6603,150)

Getting Started with the Classpad |l 17
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Press to mark the point and keep the coordi- O Edit Zoom Analysis ¢ X
nates on the display. HI“]EE T ¥ @I’_‘E =

, v1=—[F6+x"2+56+x+120
Press [») to move to the second point.

£ Edit Zoom Analysis ¢ (%]
== g

v13200 6-xT2+56+-x+120

4. Compute the time when the ball hits the
ground. 125

To compute an x-intercept, tap the [»] icon at the
top of the screen, then tap [E2).

20

291

Ke=5of yc=0

&
Rad Real -
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5. Compute the coordinates of the maximum point.

For a maximum point, tap the [»] icon at the top of
the screen, then tap [[5).

6. Construct a table of values for times
{0,1,2,3,4,5}.

To set the table, tap [&].

Enter the values and tap OK.

Getting Started with the Classpad I

Graph & Table
Menu

-ﬁ Edit Zoom Analysis

Imnx] MIN IH:F

1751

1501

125

D.

75,

201

201

v13301 6+xT2+56+-x+120

ax|
Ke=1bp{T5 yc=169
| (B[ %
Rad Real S
Table Input
Start:@
:‘5
Step :‘1

o]

Cancel |

' Math1 Line

I |

19



Graph & Table
Menu

£+ Edit T Fact Graph e
I Ea 8 ) (=3
Sheet1 fSheetZTSheetB]Sheeﬂ Sheet5 |
Myl=_16.x2+56.x+120 =&
[Ov2:0
[]v¥3:0
[1va:0
[1v5:0
[ ]vB:0
Fla7-0
X vl

0 120

1 160

2 168

3 144

4 88

5 0
0 % ||
Rad Real @
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Graph & Table
Menu

These examples have used the coefficient of -16 for the t? term. The value of that coefficient
could be different, based on conditions such as altitude. It would also be different on the
moon or another planet, and of course, if different units for distance and/or time were used.
A more general equation for the model would be h = -% gt?> + vt + c. This is an application of

the general quadratic y = ax®> + bx + c.
7. Explore the transformations of the graph of the
function y = ax? + bx + ¢ as the coefficients g, b, ¢

are changed.

Enter the function y7 = 71x2 + Ox + 0. The three
coefficients are needed, as explained later.

Set the window to Default.

Graph the equation.

Getting Started with the Classpad I

£ File Edit Type ¢

BEEalEEE S

Sheet1 [Sheet? |Sheet3 |Sheet4 [Sheet5 |

M y1=1.%240.x+40 (e
[]v2:0
(Jy3:0
[lva:O

£ Edit Zoom Analysw 0

E - | ] EE I ....... _x_ n:
'Sheet1 (SheetZTSheetﬂSheetd Sheet5 |

M v1=1.x240-x+0 el
|E|Y2-D
Fva:0
[]va:0
[]¥5:0
[lv6:0

Flx:7e 0

= M
L I e —

w5 5RSE1] 12345087

& g

Rad Real
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Tap Analysis, Modify.

Enter 1 for the Step size and tap OK.

The word Modify appears on the graph screen,
the graph is thicker, and the function rule appears
in a dialogue box at the bottom. To explore the
transformations, tap any one of the 3 coefficients
and highlight it. Tap on the graph screen. Now use

(»] and («] to increase or decrease the coefficient,

respectively, and see the graph transform.

Graph & Table
Menu

£ Edit Zoom |Analysis| ¢ (%]

| B2 | 25| Trace v
Sketch e
Sheet1 [Sheet2 |{ ¢_gqjye Sheet5
v1=1.x2+( Modify —
[Ov2:0
e300

-

Modify

{step |II |

0K Cancel

it

FEEUBSEA] 12345¢6 7T
s

& Edit Zoom Analysis ¢ (%]

BEREEEREE G
Sheet1 [Sheet? [Sheet3 |Sheet4 [Sheets |

M v1=1.x2+0.x+0 —
[Iy2:0 '
[]v¥3:0

[]va:0

[1v5:0

[lv6:0

[17:0

1-:~;“2+D°x+0- al

T 55 RS2 -1] 1234506 7

-1
_2_
=4 Modify
_4_

1-x"24+0-x+[] =

@ IIJ&?”

Rad Real
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AIternateI;;, tho n;ake ;:fhanges \r:wtz?)u:] a step size, tap O Edit Zoom Analysis ¢ x)
any one of the 3 coefficients, highlight it, enter a new =1 T T
y gnig iil[llEE ]i--@. [_‘\L >
value and press (EXE]. “ :
Sheet1 [Sheet? [Sheet3 |Sheetd | Sheet5 |
M v1=1.x2+0.x+0 i
[Jy2:0
[]v¥3:0
[1va:0
[ 1v5:0
[ ]vB:0
| &= £ Llu| — —
[[15x72+0%F at
3_
2_

S FEEWMS5 2] 123450867

Rad Real - m
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Conic Menu

The Conic Menu will graph conics in an (H, K) form, such as x = Ay - K)? + H, a standard
form such as x = Ay? + By + C, or the general form, Ax? + Bxy + Cy? + Dx + Ey + F = 0.
The general form includes rotated conics. The easiest way to input the equation for the

relation is to insert a form, and edit the coefficients.

The G-Solve commands will display important features related to conics, such as a center,

vertices, foci, and asymptotes.

1. Graph .(X_Z) - (y+1)2

62 g

Tap B8, then the Conics icon.

Tap [%7).

Select the form for this hyperbola, and tap OK.

Edit the coefficients A, B, H, and K. Highlight the
letter and press the key for the number. For K,
also change from subtraction to addition.

Tap [ to set the window, or use shortcuts after
graphing.

Select Conics Form

x=A(y-K)2+H
" IX=Ay2+By+C
Dy=A(x-H)2+4K
y=Ax24Bx+C
O (x-H)2+(y-K)2=R2
T AXZ+AY2 +BY+Cy+D=D
(x_;)_’ —I{’1
— 2 = 2
O‘—P— “ =1
;!_Kzz i H 2=1
- A B

T AXZ24+Bxy+Cy2+Dx+Ey+F=0

0K

Cancel

Rad Real

£ Edit Form Fit

]

e .

Conics Equation:

(x-2) 2 (y+1)2_1
25 -
6 gl
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Tap [2k] to graph.

Tap g to plot the graph in a full screen. You may
wish to adjust the window.

The window can be easily changed by using (V]
(A] («] [®] to scroll in any of the four directions,
to zoom in, and (—] to zoom out.

Getting Started with the Classpad I
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Conic Menu

£ Edit Zoom Analysis e

[Conics Equation:

G2 GaE
62 g2

12 16 20

EALE
Rad Real -
£ Edit Zoom Analysis (X]

B EEEREE

= 1

12

16 20

(8]

Rad Real
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2. Display the vertices, foci, and asymptotes. & Edit Zoom [ATEIVEIE] « R
fon | £ EE|Trace
For vertices, tap Analysis, G-Solve, Vertex. —&]‘—‘;ﬂ(g_!tch 3 - :
[ ¥-Cal/y-Cal >
Focus
Yertex
£ Edit Zoom Analysis & (%]

HEEIEBRE B

y+1)"2/64=1

Press to mark the point and keep the coordi-
nates on the display. Press E to display the other
vertex.

Use G-Solve in the same manner for foci and
asymptotes.

(—Bg—ﬂﬂf—l) (8,31512,—1)

ol

-15

ol

—oal Asympt ‘s\!
y=—2+(x-2) 13-1, y=4+ (x-2] Ba | T |
Rad Real @M

26 Getting Started with the Classpad I



an .

3. Convert the equation to a standard form. e ———

Tap g4 , then tap the equation window. “x=ACy-K)2+H
1 x=Ay2+4By+C

Tap [, then select the bullet for general form, then Cy=ACx-H)2+K

tap OK. Ty=Ax2+Bx+C

(x-H)2+(y-K)2=R?
T AX2 +Ay2+Bx+Cy+D=0

0K Cancel

Rad Real - m

£ Edit Form Fit

ERERE

Conics Equation:

16+x2-9:y2—§4+x—18+y-521=0|

1) "2 f
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4. Graph the rotated conic
2x? — 3xy +4y? - 5x + 6y - 7 = 0.

Tap [%7). “x=Ay2+By+C

Dy=A(x-H)2+K
Tap the bullet for general form, then tap OK.  y=AX2 +BX4C

O (x-H)2+(y-K)2=R?
T AXZ +AY2+Bx+Cy+D=0

___.IK;H!2+ -K 2=1

() Ax2+Bxy+Cy2+Dx+Ey+F=0

0K Cancel |

Rad Real -

Edit the coefficients and the signs. The addition sign & Edit Form Fit

and the number can be highlighted together. "_}glftiv)] ﬂt"’)IEE |

Conics Equation:

Ax24Bexoy+Coy 24D x+Ey+F=0

£ Edit Form Fit

B E

Conics Equation:

2ex2-8exey+4ey 2 —5ex+6y—TED
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Tap [2k] to graph.

Again, you may tap Eg to plot the graph in a full
screen.You may wish to adjust the window.

The window can be easily changed by using

(v] (A] («] [®) to scroll in any of the four directions,
to zoom in, and[(—] to zoom out.

Getting Started with the Classpad I

4 X
'PQ(C%(PM‘ 7

Conic Menu

£ Edit Zoom Analysis ¢

BEIFEEREE

%]

Conics Equation:

2ex2—Zexey+dey 2—5ex+Boy—T=0

=
Rad Real C
& Edit Zoom Analysis e 3

BEFEERE -
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G-Solve commands may be used on rotated conics. & Edit Zoom Analysis ¢ (x]
o] © [ 2| 2 [ L

3_

Q-

1z 3
.(0.95;55,—0.391)

......................... p(1.E564,-1.699)

@ III'E

Rad Real
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Statistics Menu

Suppose one of the questions asked on a survey was “What type of pet do you have?”,
and the results from 50 people are shown in this table.

Pet Category Dog Cat Fish Bird Other None
Frequency 14 12 9 6 4 5

1. truct ie chart of th ta.
Construct a pie chart of these data & File Edit Graph Calc
| 0.5 4 =

It is easiest to work with categorical data from a [ L’?I 3 ] M] =]V [Hﬂﬂl 'E
spreadsheet. Tap “ég then the Spreadsheet icon. A B C 1
Enter the frequencies in the first column. Press |[EXE 1 14
to move to the next cell. g lg

4 6

0 4

B 5

7

£+ File Edit Graph Calc
To construct the chart, tap Column A so it is select- [“if»%] 5 l ad N [E'Crl @ Ijl »
ed. If the graph icon is [ @], tap it. Otherwise tap the B L’L’ =7
(¥] near the top-right to open the graph menu and ) __
then tap [@] from the drop down list. Anr |
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& Edit View Type Calc
“ '-I-E:EI" @ | Y le v|:
B
1 14
2 12
3 9|
4 6
5 4
6 5
14 T [vIX

Tap any section of the chart to display the frequency. T Ve T OO 5

-T2 2]
.

1 14

2 12

3 |

4 6

o 4

6 5

n %

(o]
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Tap the chart and drag to Cell B1 to display the

relatl\l/e flreguenmesf, shown as percents. (tap-and- e I Elacl=v1ed J v E
drag is similar to click-and-drag with a mouse.) - = 5 z
1 14 1 78]
2 12 2 24]
3 9 3 18] |
4 6 4 12] |
5 1 5 8]
6 5 6 10| ¢
B1:C6 T
# File Edit Graph Calc
2. Construct a bar chart for these data. L"if.%l B [A2|=|v|bd| D el »
A ()
Select Column A again. Tap the (Y] near the upper- 1 14 1 1_\
right corner to access the graph drop down menu. g 13 g = ‘ [ﬂll]
1 6 4| |{(oal | GAR
Then tap [[flb] to construct a bar chart. 5 4 5
6 5 6
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The bar graph is displayed.

Tap any bar to display the frequency.

 mam v
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Statistics Menu

Plots and statistics for quantitative data can be created in either the spreadsheet or statistics

menu. The statistics menu will be used for this example.

The number of games won (out of 162) by a certain baseball team for the years 2002 — 2013

are shown in the table.

67

88

89

79

66 85

97

83

/5

71

61 66

1. Construct a histogram for these data.

Tap “ég then the Statistics icon. Enter the frequen-
cies in list1. Press to move to the next value.

Tap [ili5] to setup the plot. Select On, and use the
drop down menus to select Histogram, list1, and 1

as shown. Then tap Set.

Getting Started with the Classpad I

£+ Edit Calc SetGraph e

MER R EE)

listl |list2 |list3 |list4 | B

67
88
89
79
66

Wo=1ONoN =0 Mh)—=

Set StatGraphs

(1[2f3]af5[6[7[a ][9]
Draw: ©O0n () off
Type: Histogram | v
XList: | list1 | v
Freq: [ 1 Iﬂ
Set Cancel
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Statistics Menu

1ia|. Enter values for the starting value (HStart)

£ Edit Calc SetGraph ¢

and the step (Hstep), the width of each bin; then tap

oK. [ [ 5[ v [ T
listl |list2 |list3 |list4
1 67
2 88
3 89
Set Interval
HStart: 60
HStep: 51
0K Cancel
£+ Zoom Analysis Calc e (x]
BIECIEEEE L
list] [list2 [list3 [listd | 9
1 67
2 88
3 89
4 79
] 66
B 85
Cal»
[151= | |
T T
G =
e i
G e
G e
G i
e =
G e
G e
S G
e =
e e
G e
ol N
57 107
| %
Rad Auto L(11]
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Tap Analysis, Trace to display the frequencies, using
the directional pad to move through the data values.

Getting Started with the Classpad I

£ Zoom |
| i
list ist3 |list4

[=p B e N
<o
w

Callhl |_

[ 2= |

=] ol w]all

listl [list2 |list3 |list4

£+ Zoom Analysis Calc e E3
»

67
88
89
79
66
85

o=l —

SEEiE R

=65 Fe=3 1w
StatGraph1 | By | O
Rad Auto -
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2. Construct a box and whisker plot for these data.

Tap the list editor window.

Tap [lig] to setup the plot. Tap Off for StatGraph1,
then tap the 2 tab to select StatGraph2.

Select On, Medbox, list1, and 1 as shown. Tap the
box to Show Outliers and tap Set.

38

Statistics Menu

Set StatGraphs
(12345678 (9]
Draw: O on @ off
Type: ‘Histogrﬂn | v
XList: | Tist1 [v]
Freq: [ 1 [+]

Set StatGraphs

Draw: @ on O off
Type: | MedBox |+
XList: | list1 [+]
Freq: K [ v‘

Show Outliers

Set Cancel
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Statistics Menu

20

(X]

i | to view the box and whisker plot.
P & Zoom Analysis Calc ¢
H EEEE S
listl |list2 |[list3 |list4

1 67
2 88
3 89
4 79
5 66
B 85

Cal>

[ 8= |

53 99
| By | O
Rad  Auto T
Tap Analysis, Trace and use the directional pad to & Zoom Analysis Calc & (%]
view the five number summary. | }Ziiiﬁi] 'y ]B] [g}_“]m@ Vi || »
listl [list2 [list3 [listd | P9
11 87
2 88
3| 89
4 79
5| 66
6| 85
(_:a]r
[ 3= \
MBd=77 2
StatGraph2 | By | O
Rad  Auto T
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3. Compute summary statistics for these data.

When the list editor window is selected (note the bold
border) the Calc command is the second command.
When the plot window is selected, the Calc com-
mand is the third command.

In either case, tap Calc, One-Variable.

Select list1 and 1, then tap OK.

One variable statistics are displayed; use the scroll
bar to see additional information.

40

Statistics Menu

& Edit [Calc] SetGraph
“r | Y1 One-Variable

: Two-Yariable

3 ~ Regression

2| |Test

3| |Interval
g Distribution
6

»>

Iny. Distribution
Calw| |DispStat &3

Set Calculation
One-Yariable

Aist [ist [+

Freq: K [v]

0K Cancel |

Stat Calculation

One-Yariable

n

¥a]

¥
(I L T T
D=l = = =] 0 =]
==l Cu— b= SO b ~l
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